Electric Drives Linear Motion and Rexroth
and Controls Hydraulics Assembly Technologies Pneumatics Service
Bosch Group

ERBER R - ENfRR=S

%3l PE2




2 Bosch Rexroth AG | Pneumatics

ERERRA — ENRR=R

%% PE2
P — EntERkaE, 5 PE2 3
il T > FRIENEE: -1 - 16 bar » BFH » HIHSS: 1 x PNP LUK 1 x )l » BFERE: &
gL, M12x1, 5-8t » EREE E RS
P EAfERIER, 23 PE2 7
il T > FXEENTER: -1 - 40 bar » B » BIHES: 1 x PNP /2 x PNP » BFEHE: £idE
3, M12x1, 5-&F » ERBEFRERE
P4
EERY, £5 CN2 12
fr' > HEEE, M12, 4-8F » &EINE IR 5SS, 4-6F

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEFE, ELPDF, $IETF 2011-10-15, © Bosch Rexroth AG, 4R E B4



Bosch Rexroth AG | Pneumatics 3
HREBER - ENHE-RS
EN{eRk2E, R7 PE2
> FXRENTEE: -1 - 16 bar » BFHY » #HHES: 1 x PNP LLR 1 x #H] » BFERE: S5k, M12x1, 5-8F » EBSRE
Afs
MERT HITEN
2R LCD & Rrs8, 44
BRWIEER bar, psi, MPa
ootzse ESHRAETRAT 2 RIEIRE
FRIBIE R B/ ER(ATRES P ERIEE)
MNRRE /ME/EKE -10°C/ +60°C
=EEENRERE -10°C/+60°C
R ERES
EHRT=SHHRHE 0 mg/m3/ 40 mg/m3
HhERE S max. 30¢g
(XYZF )
RIIBEN 39 (5- 500 Hz)
(XYZATa)
BE (100%#%E78) +15%
et <10 ms
FER= FFTEE0-100%
REEES AHIEE0-100%
IR AT
T{EBEDC |IVEK 15V-32V
R EERE <50 mA
R R 4-20mA
e B (FFXEBIR), BERE, xXE[A 05
BB i < B{EIRE<+0,2%
f##EE max. 128 Ohm
FhiERsaE B AR S FF oK i
REMNE 7T=
BEEA BEEEAL
BrtrER IP 65
=8 0,3 kg
s
= sart
o) R IERIEE
BFERE saHt
E- 3] ﬁ*ga BERE WLES | EREESSEERS Bk =B
JEH
=®/NEmX
[bar]
PE2-PA-G014 B4, G 1/4 Fig. 1| 0821100109
< PE2-PA-F001 /1 10 bar 1xPNP ELR 1 x 8 %Oﬁ?%ﬁ"]fﬁfa% Fig.2| 0821100110
X1,
PE2-PA-G014 ML, G 1/4 Fig. 1| 0821100111
> PE2-PA-Foo1| 0716 30bar|  1xPNPELR 1 xRl ﬁoﬁmﬂ"]ﬁ?@ Fig.2| 0821100112
x1,

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IEF 2011-10-15, © Bosch Rexroth AG, %88 & B4AFH




4 Bosch Rexroth AG | Pneumatics

RRBRR - ENIERELS

ENtEREE, R PE2
> FFRENTEE: -1 - 16 bar » BFH) » HilH{ES: 1 x PNP LI 1 x 8#] » B-F&ER: SiE%, M12x1, 5-§ » EBEE

A femizs

Fig. 1
M12x1

12,5

99
86,5

52
n
N
;
D).
75
12 %

|
T
30 20 G 1/4

00112459_a

*BRINENRE

HEFIRRMNFRIES NEE MR O ERRIRER, #FAERIENHE
S@ER-B5, E4PDF, #IETF 2011-10-15, © Bosch Rexroth AG, 1R & XALF]



RRBRER - ENIEREE

Bosch Rexroth AG | Pneumatics

EN RS, R PE2
> FXEHTEE: -1-16 bar » HFH) » #HH{ES: 1 x PNP DL 1 x )] » BFEE: S5k, M12x1, 5-8 » EEEE

A femizs

Fig. 2

0821 100 104

M5

99

M12x1
w
S

&
:
S
o)

5,2

30 5

1) SE4E4 M5x35 (A& ZE#ESEE M)
2) OF43R ©5x1.5 (BIEEMETEERN)

X E IR ER

AT AXMH2ME N ZIRE
RFFARH AR ZIRE

1)

2)

3) TR

4) B REN

5) FXI LA
6) EREE

7) B\ BT
8)

RE SRR A X SR B FF K S iR

00112461_a

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IEF 2011-10-15, © Bosch Rexroth AG, %88 & B4AFH

2)

00112460_a



6 Bosch Rexroth AG | Pneumatics

RRBRR - ENIERELS

EN &S, R PE2
> FXENTEE: -1-16 bar » HFH) » #HH{ES: 1 x PNP DL 1 x &) » BFEE: S5k, M12x1, 5-8F » EBHEE
KIEReE

fERSEL

Pin 1: {52+ UB; Bifa: 15

Pin 2: {55 Out 2 (PNP)/ {9 4 - 20 mA; Bifa: B
Pin3:{2:0V; Bifa: %6

Pin 4:{52:0ut 1 (PNP); ifa: 2

Pin5: {52 PE; 8ifa: k&

EE (HAEREE)

1 10..32 VDC
_@ 2 I 4..20 mA
— - P —@i:ﬁo‘” !
3 0VDC
i€
=

00127656

1 x PNP LR 1 x #&#)

E s E 2%
} B
OUT (NO) | |
Ui l }
1-———
0
' .t
OUT (NC) | !
Uald \ I
s -
O L
t
H: #3R

SP=F%&, RP=EEAXA

HEFIRRMNFRIES NEE MR O ERRIRER, #FAERIENHE
S@ER-B5, E4PDF, #IETF 2011-10-15, © Bosch Rexroth AG, 1R & XALF]



Bosch Rexroth AG | Pneumatics 7
HREBER - ENHE-RS
EN &S, 27 PE2
> FXEHNTEE: -1 - 40 bar » BFHY » #iH{ES: 1 x PNP /2 x PNP » BF5&E#: 254Gk, M12x1, 5-8 » EBRGEFX
fRRkEE
g R~F 13t ES
2R LCD B RE8, 411
BRWIEER bar, psi, MPa
ootesez ENINGIERAT 2 RFIIRE
FFXIB 4R B/ A (FTIURIBE FEKIEE)
MNRRE /ME/EKE -10°C/ +60°C
=R/ EENTREE -10°C/ +60°C
T EHEES
EHRT=SHHRHE 0 mg/m3/ 40 mg/m3
EBE S max. 309
(XYZF )
RENBE S 39 (5-500 Hz)
(XYZATa)
E (100%#E22) +1,5%
et <10 ms
FER= FFTEE0-100%
iR EEES ATHEREI0-100%
IR TEAWH
T1EBEDC &/IVERK 15V-32V
BEIh R <50 mA
WmEER(FFXER), ERE, =XE[A] 05
i #fE max. 128 Ohm
FEh=E R
REME =
BEEAR B E@ETL
FrtrER IP 65
BE 0,3 kg
s
ST $RMT
=t Eazonin
BT $aMT
B | FXEN | BERE HES | EEESEERT &y F=mftin
SEE
BINEX
[bar]
PE2-P1-G014 1 x PNP MEBLL, G 1/4 Fig. 1| 0821100101
PE2-P2-G014 2 x PNP MERLL, G 1/4 Fig. 1| 0821100105
<] PE2-P1-FOO1|  -1/1| 10bar 1x PNP mo’*’%m’ﬁ;—x%% Fig.2| 0821100102
PE2-P2-F001 2 x PNP ﬁom%m%&@ Fig. 2| 0821100106
PE2-P1-G014 0/16 30 bar 1 x PNP MEBLL, G 1/4 Fig. 1| 0821100103
PE2-P2-G014 0/16 30 bar 2 x PNP R824, G 1/4 Fig. 1| 0821100107
HORIMMEE, O .
S PE2-P1-F001 0/16 30 bar 1 x PNP 1 5 Fig. 2| 0821100104
PE2-P2-F001 0/16 30 bar 2 x PNP %O%w"ﬁ*fxa% Fig. 2| 0821100108
PE2-P1-G014 0/40| 100 bar 1 x PNP MIELL, G 1/4 Fig. 1| 0821100094

HEFIRARNM RS MEER O SEEHER, FRERFERMYE

SHEH-BR, ELPDF, $IEF 2011-10-15, © Bosch Rexroth AG, %88 & B4AFH




8 Bosch Rexroth AG | Pneumatics

RRBRR - ENIERELS

EN1EREE, &3 PE2
> FXRENTER: -1-40 bar » EBFH » HH{ES: 1 x PNP/2 x PNP » BBF5&E#E: 258k, M12x1, 5-5t » EBEHR

femizs

Fig. 1
M12x1
[ S (I
3
[Io)
2
i ——
————————————————————— SO Oty & |
ENEE B
30 20 G"l/4
|
by
910,
|
30
00112459_a
* BNENRE

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEFE, ELPDF, $IETF 2011-10-15, © Bosch Rexroth AG, 4R E B4



RRBRER - ENIEREE

Bosch Rexroth AG | Pneumatics

EN &S, R PE2
> FFEEHEE: -1 - 40 bar » BFHY » SH{ES: 1 x PNP /2 x PNP » HIF3&E#: SiK#EL, M12x1, 5-4F » EHE G

femias

Fig. 2

0821 100 104

M5

99

M12x1
w
S

&
:
S
o)

5,2

30 5

1) SE4E4 M5x35 (A& ZE#ESEE M)
2) OF43R ©5x1.5 (BIEEMETEERN)

X E IR ER

AT AXMH2ME N ZIRE
RFFARH AR ZIRE

1)

2)

3) TR

4) B REN

5) FXI LA
6) EREE

7) B\ BT
8)

RE SRR A X SR B FF K S iR

00112461_a

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IEF 2011-10-15, © Bosch Rexroth AG, %88 & B4AFH

2)

00112460_a



10 Bosch Rexroth AG | Pneumatics
ERBERA - EhkEE

ENfERERE, &35 PE2
> FFXENTEE: -1 - 40 bar » BT » HH{ES: 1 x PNP /2 x PNP » BF&H: S5, M12x1, 54t » EREGR
femizs

fERSEL

. \R))
NS/

o

7

Pin 1: {52+ UB; Bifa: 2

Pin 2: 12."'3— Out 2 (PNP)/ Z5{UlH9 4 - 20 mA; Bifa: B
Pin3:15:0V; Bia: 5

Pin 4: 1.:.15' Out 1 (PNP); Bifa: 2

Pin 5: {55 PE; Bifa: k2

1EE (P4HERERE) , 1 x PNP

_@ 1 10..32 VDC
P _@ 421 OUT 1
— —@—I:I—I
_@ 3 0VDC
HmD>
=
00127654
EE (Pl4E:EEE) , 2 x PNP
B 1 10..32 VDC

OuT 2
OuT 1
0VDC

o

¢
@@iﬁ?

=

00127655

HEFIRRMNFRIES NEE MR O ERRIRER, #FAERIENHE
S@ER-B5, E4PDF, #IETF 2011-10-15, © Bosch Rexroth AG, 1R & XALF]



Bosch Rexroth AG | Pneumatics

RRBRER - ENIEREE

11

EN RS, R PE2
> FFRENTEE: -1 - 40 bar » BFH » #iH{5S: 1 x PNP /2 x PNP » B-FiE#
REZE

: ZNESL, M12x1, 5-81 » EEEAR

ENEER L%
} Lot
OUT (NO) | |
Ui l }
1-———
0
' .t
OUT (NC) | !
Uald \ I
s -
O L
t
H: {#ER 7

SP = FF%&, RP=[E%FXS
Biim (NC) :HiHAX, Ak
i (NO) : MHFAX, EFmk

HEFIRRNMRIRE S NEEN RO ERRIRER, #AERIE WY E
S @-B%, E%PDF, #IEF 2011-10-15, © Bosch Rexroth AG, 1783 & X4LF]



12 Bosch Rexroth AG | Pneumatics
ERBERA - EhkEE

%3 PE2
Bt

EEEY, R CN2
> HEEE, M12, 4-§t » SISSMBEBSI R, 4-5t

NEERE s/ME/EKE -40°C / +85°C
Bigiak:27 IP 65
’ SANE
'. sk
00107009_c %gﬁgl\& %ﬁgg
BARMEE
B  HENRPERIERTELREIRENRTS.
BHSED HERE| BHE RBXE oy SZ%8n =R
[EO1] [EO2]| [vDC]| [V AC] [A] [mm?]
1> — BN 1834484259
- 1834484260
22 | e, iz, ast| EENREAR| 500 a5 4 4 0,34
e I 1834484261
AR ] R HERE L B8
[m] [kg]
1834484259 3 0,13
1834484260 £90° T 5 0,202
1834484261 10 0,387
g
o147 L
M12x1 L E
3
I ¢
Q .
0| I——————] .
3 i
31,56
39
L

Jl\)

o\

o\
\\\ \g
i
)

00107205_b

HEFIRARNM SRS MEER O SEENER, FHRERFLMYE

SHER-BEFE, ELPDF, $IETF 2011-10-15, © Bosch Rexroth AG, 4R E B4




Your contact:

EEEHNTR(PE)FRAT
iR

FE LigHiERAE 1S P EMRA
KEAE

#R4R: 200120

B1i%: (86-21) 3866 6000

t£H: (86-21) 3866 6111

Hit N R(PE)ERAE
EHNHEL
EBALKDBRIAE195
REMEAT I KRE#
BLi%: (852) 2262 5100
t£H: (852) 2786 0733

EEEHNTRPE)FRAT
ERARL
PEAREFREAALXKER
#®e6s

BR%R: 100176

B1iE: (86-10) 6782 7000

f£H.: (86-10) 6782 7020

EEEHNTRPE)FRAT
KERTRL

FEKET T RN XH K9S
BRTE FRKE2005%E

BR%R: 116011

BLi%: (86-411) 8368 2602
t£H: (86-411) 8368 2702

FEEHHTR(PE)FHRAE
I

AR T FF & X RS Y T
HR4%: 510663

H1i%: (86-20) 3229 9551

f£H: (86-20) 3229 9528

#itt hER(PE)FRAT
BB FR A

rh & B ER T I K 1453085
ST 1521#%B-CE

B4 610017

B1i%: (86-28) 8652 7550
f£H: (86-28) 8652 7123

it L R(EM)FRAF)
PEIIAEMNTRER A RTRE
165

HR4%: 213161

F1i%: (86-519) 8175 000

f£H: (86-519) 8175 088

Bt DT RALR)REFRAT
FEILREFHEAALXKER
%65

#R4%: 100176

F1i%: (86-10) 6782 7000

f£H: (86-10) 6782 7020

Rexroth
Bosch Group

Bosch Rexroth AG

Pneumatics

Ulmer StraRe 4

D - 30880 Laatzen

Phone +49 511 2136-0

Fax +49 511 2136-2 69
sales-pneumatics@boschrexroth.de
www.boschrexroth.com/pneumatics

LisE#hTREERBHLE
FRAF]

FE LETINEHARRERR
—pg122%

HR4R: 200131

B1i%: (86-21) 5866 3030

f£H: (86-21) 5866 5523

Lisgith+RBEERBHEH
PRAS]

AT

HE EigmEFfHOnTX SR
555

HR4%: 201206

Bi%: (86-21) 3866 6333

fEH: (86-21) 3866 6222

further contacts:
www.boschrexroth.com/addresses

The data specified above only
serve to describe the product. No
statements concerning a certain
condition or suitability for a certain
application can be derived from
our information. The information
given does not release the user
from the obligation of own judg-
ment and verification. It must be
remembered that our products
are subject to a natural process of
wear and aging.

© This document, as well as

the data, specifications and other
informations set forth in it, are the
exclusive property of Bosch Rex-
roth AG. Without their consent it
may not be reproduced or given
to third parties.

Subject to modifications.

Online-PDF
15-10-2011



	&#21387;&#21147;&#20256;&#24863;&#22120;, &#31995;&#21015; PE2
	&#21387;&#21147;&#20256;&#24863;&#22120;, &#31995;&#21015; PE2
	&#36830;&#25509;&#30005;&#32518;, &#31995;&#21015; CN2

